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DB AC
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1.

2.

2

2.7 

AC = BD; AO = CO BO = DO; …(1)

COD = AOB y BOC = DOA; ...(2)

∆AOB ∆COD 
∆BOC ∆DOA ; (1) (2)

ABCD



6

MA = MB = MC (1), (2) (3) 

4

1. 
a b

ABC AC M MA = MB = MC

2.8 

4 4

a) c)

b) d)

2.

ADEB
BEFC
ADFC
AEFB

a) b)
a) d)
c) b)
c) d)

AC = BD ABCD . . .(3)

AB BC M AC BD ABCD

ABCD . . .(1)

ABCD . . .(2)
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ABC AC

M MA = MB = MC

AB BC AC BD
ABCD

AC = BD ABCD
. . .(3)

MA = MB = MC (1) (2) (3)
4

1. a) c) 
b) d)  
a) b)
a) d)
c) b)
c) d)
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2.8

ABCD
...(1)

ABCD
...(2)



AB = DC AD BC
AC = DB ∆ABC ∆DCB

2.

1.

2.9 
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AB = DC AD BC

AC = DB ∆ABC ∆DCB

1. 
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1
2

2.7

AA = DD 2 ...(1)  
AB = DC; ...(2)

AC = BD

2.9 

∆AA B ∆DD C; 

ABC = DCB; ...(3)
BC = CB; ... (4)



6

ABCD M BC P
BC AM

ABD AMD BDC ABM DBM
DMC

ABM DBM ABP DMP
MPB

l BC ABC A'BC

2.10 

2 1 1

ABC A'BC BC
1 BC

2 2

2

ABCD AD BC O AOB DOC
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l BC ABC
A'BC

ABC A'BC BC
1 BC

2

ABD AMD BDC ABM
DBM DMC

2

2

2
2
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∆ABC ∆DCB (1)
(2) AOB DOC

ABC DCB
2

2.10 



ABCD BC E ABE
∆ABE ABCD E

ACD

ABCD ∆ABE

1. AC
2. AC D l BC

E
3. A E ∆ABE

∆DAC = ∆EAC

ABCD = ∆ABC +  ∆DAC
∆ABE = ∆ABC + ∆EAC

∆ABE = ABCD ∆DAC = ∆EAC

1. ABCD BC AD M N BD
AM CN P Q BQ =12 QD

2.11 

PT MC T

a) DBE ADE DCE
b) DBE ABE EBC

2. ABC AB AC D E BC 
DE
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BC E
ABE ∆ABE ABCD

E

1. AC
2. D AC l

BC E

3. A E ∆ABE

∆DAC = ∆EAC

ABCD = ∆ABC + 
∆DAC

∆ABE = ∆ABC + ∆EAC

∆ABE = ABCD
∆DAC = ∆EAC

1. BP = QD = 6

1

2

BM = MC MC = PT
BM = PT ...(1)

PBM = QPT; ...(2)

BMP = MCT MCT = PTQ;
BMP = PTQ ...(3)

∆BMP ∆PTQ; (1) (2) (3)

BP = PQ 6
...(4)

∆ABM ∆CDN;
AB = CD AM = CN BM = DN ...(5)

BMP = DNQ ...(6)
PBM = NDQ ...(7)

∆BMP ∆DNQ; (5) (6) (7)

BP = QD = 6
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6

1. 6

4. ABCD EFGH

3. E F ABCD BD BE = EF = FD
AECF

2.12 

22

2.



DO = BO AO 

DH + HA = AE + EB; HA = EB
DH = AE ...(1)

AO = CO DO

∆BOC ∆DOC
BC = CD ...(3)  

AB = CD = BC = DA; (1) (2) (3)

BOA DOA DOC BOC 

G AC BD
AG = CG

EG = BG − BE = DG − DF = FG

AECF

DH = BF ...(2)  

EH = FE = GF = HG
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EFGH
90

2.13 

∆BOA ∆DOA
AB = DA ...(1)

∆DOC ∆DOA
CD = DA ...(2)  BO = DO 

CO 

θ = 45 8θ = 360 ; 

DH + HA = BF + FC; HA = FC

CG + GD = DH + HA; GD = HA
CG = DH ...(3)

AE = DH = BF = CG; (1), (2) (3)
∆AHE ∆BEF ∆CFG ∆DGH



3. DE = AB DEC= BAC AD = BE

[ ∆AEH ∆CGF AH = CF
]

5. ABCD BE DF ABC
CDA

BE DF 3

1.

2.13 

∆ABD ∆ACD

2. ∆ABC AB = AC CAB=36 DB D AC ABC
BC = BD = DA

4. ABCD 4 AB BC CD DA 4 E F
G H AE = CG BF = DH
EFGH

ABD ACD ABC ACD
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CDA = BDA = 90
BD = CD AD

∆CDA ∆BDA

AB = DA AC

∆BAC ∆DAC

ABC = CDA, 

BE DF
ABC = CDA

AB = CD ...(2)  
∆ABE ∆CDF

AEB = CFD ...(3)
AEB + BED = 180
CFD + DFB = 180 ; 
AEB+ BED = CFD + DFB 

(3) BED = DFB ...(4)

2. AB = AC ABC = ACB
ABC + ACB = 180 − A = 144 ;

ABC = ACB = 72 ABD = 36 =
A BD = DA ...(1)

BDC = 180 − 36 − 72 = 72 = BCD
BD = BC ...(2)  

BD = DA = BC

3. DEC = BAC DE AB; DE = AB
ABED 2

AB = AC AD

∆DAB ∆DAC

4. AD = BC ; 
AH = AD − HD = BC − FB = CF

AE = CG
A = C
∆AEH ∆CGF

EFGH

2.13 

(1) (4)
BFDE


